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Consider a monopolist who serves twa separated markets with demands as follows:

Q-4 -P
Q-6 -T
The monopolist’s production costs are ¢(Q, Q=) = 20((h +(a).
1. Set up the monopolist's profit maximization probiem and solve for its

profit-maximizing price and output in each markel, Also. confirm that the demand
is more inclastic in the high-price market at the optimum. { wdﬁ

2. Suppose the monopolist is prohibited by law from practicing price discrimination.
Set up its profit maximization probleny and solve for the profit maximizing price

and output. € { r}/ﬁ}
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